:f)U?,
:880p

 893¢

325.

IOkS on 0
order of numbers, the product is not changed.
 This result is trye for large numbers also. Thus,

finc

 The prodlieof two numbers does not change, when the order of numbers is changed. This
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Multiplication

In Class 3, we have learnt how to multiply a gi isti
. \ given number by a number consist igi
We have also studied the various properties of multiplication. [

In a multiplication sum:

The number to be multiplied is called the Multiplicand.
The number by which we multiply is called the Iultiplie;
And, the result of multiplication is called the Prod i

Example: In 123 x 4 = 492, we have:
multiplicand = 123, multiplier = 4 and product = 492,

Properties of Multiplication
I. Order Property of Multiplication

Example 1: Find the products: 36 x 23 and 23 x 36.
What do you conclude?

on: We have:
—
: 3 b ZilE 3
s o > x. 306
ey B PR S &
% 72 0 +. 6950
gy 7 8 B 2 B8

lusion: We have, 36 x 23 = 23 x 36.
We may take the products of other numbers, taken in pairs. We shall find in each case that by changing the

P

Property of Mltiplication.

_*-l



au!j‘"on 'AG 1
Tick (¥') the correct answer. 007

1. Which of the following does not equal 10 S S () 30 x 50 @)
(a) 3x500 (b) 300%50

2. Which of the following does not equal t0 Ao ¢) 90%20 (d)
(a) 6030 (b) 45 x40 :

3. Which i is correct?

ich of the following statements IS (b) (8 4)x3=8x (4+3)

@) (Bx3)x4=8x(4x3)

() (8x4)x3=(8x4)+3 (d) (Bx4)x3=(8+4) >~

4. 11341 +11=1?
(a) 131 (b) 1031 L (c) 1310 &%
' 5. The product of all odd numbers between 3 and 8 is
(a) 105 (b) 35 v (o1 (d)
. 6. In which number sentence does 15 make the equation true?
@) 180+ =12 (b) 150+[_]=15
(© 100+ J=4 @05+ =15
| 7. 100x 1000 .......... = 100000
a) 1
: . 8. iv]hic:di it '[b) : oty | {dj
I git should come in place of[:|sothat the given multiplication is correct’
(a) 1 (b) 5 : '
¢c) ¥ (d) 9 : g
! 9. 260 x 60 equals = e
b (a) 1260 (b) 12600 -
10. The remainder obtained ondiyiﬁmsmby“s' (). 1360 R (d) 156
_ (a) 3 (b) 4
' 11. 636x100=636X4%........ : i ) ©
£1|_ The missing number is
4 (2) 20 (b) 25

12. The product of two n |
umbers is 2175, If gne of the E (d)

How many 165 are there in

(a) 29

The number of 6s in the pr
(a) 2 (
The number of 3s in the qu
(a) 1
Divide the largest 4-digit n
(a) 99
A school needs 1500 pend
(a) 50
.. A theatre has 68 rows of
(a) 1536
). A man earns T 2465 ever
(a) T 73950
). Mr Roy's car has done 1
(a) 38
1. How many 50-rupee nof

(a) 163

1. Fill in the blanks.
(a) Multiplicand x Mt
(b) Diwvision is equal
(e) Multiplication is 1
(d) Dividend is exact
() 983x1= '
() 628x0=.

(g) We cannot divid



B 165 are there i
. Eitey ny in 12647

(b) 69
: (c) 79 (v (d) 89
Q) g rof6s in the product 3555 x 3 is
‘4 | (b) 3 T
Bt of 35 in th _ ) (c) 4 (d) None of these
B ;,:n- FOLSS IN the quotient of 4995 4 15 i
| (b) 2
s (c) 3 «—"(d) None of these
X 120 he largest 4-digit numb 14
g larg BIt NUmber by the largest 2-digit number. The quotient obtained is
8 b
__ i L (c) 100 (d) 101 LA
a 8ds 1300 pencils in a year. How many boxes of 30 pencils each must the school buy?
e (0) 300 () 300 (d) 450
| has 68 rows of seats with 24 seats in each row. How many seats are there in the theatre?
(b) 1632 7 (e) 17192 | (d) 1904
S < 2465 every month. How much does he earn in 3 years?
o ( (b) ¥ 83810 (c) T88416 | | (d) T 88740
r has done 1248 km over 26 days. How many kilometres is that in one day?
‘ ) b (c) 46 () (d) 48
. _f_jj 50-rupee notes can one get for 86507
| | (b) 173 L7 ) 16 ) (d) 193
3 ' F QUESTION BAG 2
L ¥
e blanks. o
. x Multiplier = H:tQ!LLL”'
sion is equal .......n /.0
Iil' tiplication is repeated
,; dend is exactly divisible by .-
f‘l _;- ... "{ﬂ’, ..... and 983 + 1= Lf!‘
2 ';u{]:_,,,__f,,......,..,..andO'Tf’zg: .....................
E cannot divide a number by ... v SRS :
P.'
_l'




h) The quotient and dividend arelgquaf S

(
place value of 5 x plac

(

35486,

hen the divisor 18 = ;

L,.{".@_g”'
f them is EQUar to

is Zero.
e value of 8=

al, then each 0

o \-..*.;;U.P.f.{.

u
k) If multiplicand, multiplier and product 21¢ g era

() If quotient is 1, then --'i-t...':..:.t.w.“.&. g

...,..».g,.;j-'r-'lx':'.i
/

_ e U B g e
(m) The three numbers whose product IS equal to o]
arnsssnspdessaisinins » orf.l"' ]
. State whether each of the following statements is trU€ 3
(a) The remainder is always smaller than the divisor. .
).
(b) 1068+0=0 |
(c) 8182+8182=1. .
(d) The product is always greater than both the multiplicand and the multiplier
(e) Multiplication of a number by 10 increases the place value of a digit 10 times
() We divide the divisor by the dividend.
. Fill in the placeholders.
(2) 14x5 = (70 (b) 16x7 = (}(2) () 18x4 = -
(d) 12x9 = /o8 = A d)
o i : (€) 19x2= "4 IS 3 =
g X6 = "/ h) 1 < (e .
: (h) 17x8 = \[3_51 (i) 20x IS
- Multiply:
(a) 1297 x 496 (b) 4829 x 35 -
Bk (€) 5489 x 527
) 3000 x 1 "
(CJ 60x100 = f;?'(q"p; ( y Wi @Odo
e 9 9300
1
[e} 856 x 1000 = .ﬂ‘l < 6[.?)1:1 (n “5 5 @ﬁ&j
6060;‘1 . I -
(B) 900x /'t = 90000 (h) 0= Eobocrr y
Multiply: 63&*(-{@“‘-’ = 63000
(a) 63x70 by ) o . *
| (b] % ' 7
k i
(c) 246x200 = 111 9 Ao i, (’;@ "

~
.

34

(e) 505x90

(g) 96 x 300
(i) 78 %800

Divide:

(a) 10648 + 2
What is the leas
The annual sala
How many mint
Multiply the gre:

Fill in the plac
(a) 36+18
(c) 3600+ 18
(e) 9000 <3
(g) 9000 + 300

Complete the f

Divi

(a) .

. @ 96
- 63
@ 80

A trave| agency p.
One tlcket?

A bIOCk of hOUSES
€ach flat has 3 roc

Divide the smalles




Iﬂj?.\ (e) 305%90 = Y (f) 999x30=729970
qual to () 9%6%300 = SEF ¢ (hy 44x600= 2bY O€
() 78x80 = (20 () 222x70= /5540
e e 7. Divide:
; (a) 10648 +27 (b) 79041 + 53 (c) 60350 + 86
: g. Whatis the least number that should be subtracted from 18448 to make it exactly divisible by 487
9. Theannual salary of a man is ¥ 2,92,380. What is his monthly salary?
j 10. How many minutes are there in the month of April?
E _ +1. Multiply the greatest 4-digit number with the greatest 2-digit number.
_ k. . 12. Fill in the placeholders.
(a) 36%18 = . (b) 360 +18 s | 26
(I:) 3600 +18 = = [d) 36000 = 18 = 2 Doo
(e) 90003 = 7000 () 9000+30 = 2L AO

(g) 9000300 = 2o (h) 9000+3000 = %
13. Complete the following table.
Dividend Divisor Quotient Remainder

@ 84096 1000

_(b) 1_ 9804 100

© 6356 63

&

@ 80702 80

14. Atravel agency paid T 86886 as airfare for 18 tickets to travel from Delhi to Goa. What was the cost of

one ticket?

15. Ablock of house
each flat has 3 rooms. How many rooms a

s in a colony has 15 buildings. Each building has 7 storeys. Each storey has 4 flats and
re there in the block?

Divide the smallest 5-digit number by 29.






Exercise 21

1. Fill in the blanks. ‘42
(a) The smallest prime number TR A ‘
(b) The number which is neither prime nor COMPOSIE IS .-
(c) " The first odd prime number is -
(d) The smallest even composite number is Lf .............. :
(e) The smallest odd composite number is . o
(f) All even numbers except 2 are O;J[YJQO,M J‘C- ﬂUlT'bETS
Write all prime numbers less than 40.
Write all prime numbers between 40 and 80.
Write all prime numbers between 80 and 100.

5. Write all composite numbers between 40 and 60.

s> N

Prime Factorisation
The method of expressing a composite number as the product of prime factors is called -
We may resolve a number into its prime factors by building factor trees as under:

Step 1: Ffind the least prime number by which the given number is divisible. Resolve the numb:

factors taking this prime number as one of them:.
Step 2: Resolve the second factor further

Step 3:  Co on splitting the factors till you get all the prime factors.
Step 4: Circle all the prime factors. :

Example:  Find the prime factorisation of :
_ each of the followin ildi
bW ¥ g numbers by building |
(a) We have: | 0
36
o\
- " 3
(2) x 18
Thus, we write the Prime factorisati ) ¥
2 36=2x2x 3x3 Isation of 36 as: 2/ x 9-\
oo K Y
(R
(b) We have: - iy

- ‘
_ - @ x 42
Thus. laasets. a VN

into two factors out of which at least one factor is pr

E

m DD MM

T



T Assessment 5 Q28
QUESTION BAG 1
R rick () the correct answer.
P 1. The smallest prime number is
(a) O (b) 1 -
P
2, Thenumber24has ... factors. 8 Lihedt
(a) two (b) four (c) six :
- eight
3. Pickout the prime number from the following; M v
] A7 AR) 2T (c) 39 | (d) 49
4. Inwhich of the following is the first number not a factor of the second number?
(a) 4.76 by 12,136 (c) 15, 495 | (d) 18,918
5. 8424 s divisible by
(@) 2 (b) 3 (c) 9 ' all of these
6. HCFof 36 and 48 is K ‘@/
(a) 8 by 12 (c) 16 C i 18
7. ICMof3,8and 12s
(@) 12 (b) 16 (c) 18 (), A 24
8. Every number is a multiple of ................... AN il
(;_Ifj 0,1 (b) 0, itself ey 1, itself | (d) None of these
9. Which of the following is a prime number?
(@) 91 (b) 93 L)y 97 )4 99
10. 'ﬂpsum of the least prime number and the least composite number is
(a) 1 (b) 2 (c) 4 L) (@8
11, The number which is divisible by 3 but not by 3 is
(a) 45 (b) 57 () 99 (50 (d) 126
... | 12.1CMof6,12and 18is
e .» 18 @y 36 (c) 24 { (d) 72
13. The prime factorisation of 24 is
@) 2x3x4 (b) 6x4 (c) 8x3 (@ 2x2x2x3
14, ) - of the following statements is false?
 Every number is both a factor and a multiple of itself. c
56 is a multiple of each one of 4.7 and 8. '-
is called a unique number because it has only one factor.
30615 is divisible by 9.




and 30 is ;
15. The sum of prime numbers between x [C) 51 St by

(a) 23 (b) 50

QuESTION BAGZ

1. Fill in the blanks. : P'.f _
(a) The smallest compDSite Aumber 18 .oaeeeoderessr
(b) ...1......is a factor of every number. I ? i
(c) The greatest prime number less than 100 05 o.oodeseees
: en 40 and 50.
(d) Therare.....52.... prime numbers betwe: :
(e) Thereare ......"..... prime numbers betwet’f:1 1 :“d 19 Bctons.
) Every non-zero number other than 1 has at 1€ast ..., 4 itself
) Every non-zero number is the .I@M?:ké}. factor and ...ie.aé.gmullzp:t? of its
) The multiples of 8 lying between 50 and 70 are 2. and...0.5.....
The product is called a ,mlf_..Ui.p,ﬂ:r of each of the multiplicand and thf multiplie
The only consecutive numbers which are prime are ... ‘2 """ -
| (k) A number has Jimik.cl. number of factors and Wnkinulehumber of multip/e
F (1) The smallest odd composite number s ...... S
§ (m) The smallest number you should add to an odd number to make it even is ..

§ : 2. State whether each of the following statements is true or false.
vy (a) 1 isa composite number. An
; (b) 1 isa multiple of every number,
(c) 2,4,6,8 12 are all multiples of 4.
:? (d) No even number is a prime number.
1 ;;} The multiple of an even number is always an even number
The multiple of an odd number can be an -
‘ (g) Every number divisible by 10 is also divisibT::yogan R .
;i (h) Every number divisible by 2 is also divisible by 6 . 0
, (i) A factor of a number may be greater than the nuﬁ be
1§ 8 (1) Every odd number is not a prime number, S '
v (k) A number which is not prime must be
$ (I)  The common factors of 30 and 36 are
(m) To check if a number Is a factor of the

..........

4 Composite Number
12,56 U e

other, we SR '

3. State all the factors of:
} (a) 54 (b) 84

(c) 1
4. (3a) Write all the even multiples of 3 between 1 44

0and 39, (d) 196

(b) Write all the odd multiples of 7 between 20 d
an 50.

10.

1%

12,

13.

14.

15.

16.

Write ‘Yes
{a) 16, 11
(e] 24. 3.
Find the f
(a) 3.5
Find the «
(a) 25.4
Find the |
(a) 9 anc
(e) 45ar
Find the
(a] 3 an
(e) 12al
Circle th
g} 71
Circle th

a1 1
Complef

(a)
(b)
(c)
Encircle
36 49

Encircle
78 83

Encircle
1 3

Check

(a)
(b)
(<)
(d)
(e)
(N




